Ch TN2 KEY REVIEW

True-False Questions

_____  1.
An essential condition for a LP problem is limited resources.

_____
2.
LP objectives can be either to minimize costs or maximize profits.

_____
3.
Constraint equations are plotted by letting one variable equal the


maximum and solving for the minimum amount for the other variable.

_____
4.
Most LP problems are solved manually today.

_____
5.
Linear programming is appropriate when the equations are non-linear.

Multiple-Choice Questions
______ 6.
Comparing how efficiently different service and manufacturing outlets are using their resources compared to the best-performing unit is a ______ application of LP.


A. Service/manufacturing productivity analysis

B. Product planning

C. Product routing

D. Process control

_____ 7.
Finding the optimal location of a new plant by evaluating shipping costs between alternative locations and supply and demand sources is a _____ application of LP.




A.
Distribution scheduling




B.
Materials handling




C.
Plant location study




D.
Vehicle/crew scheduling

_____ 8.
Linear programming is gaining wide acceptance in many industries due to:

A. The availability of detailed operating information

B. The interest in optimizing processors to reduce costs

C. The availability of software vendors offering optimization options to be used with enterprise resource planning systems.

D. All of the above


_____ 9.
The resources available to a firm include such things as:

A. People

B. Material

C. Equipment

D. Money

E. All of the above

_____ 10.
The key to low cost operations is:

A. Making the best use of available resources

B. Making the most profit

C. Offering only standard products

D. Offering only luxury models

